
1) Decrease 41.9 by 12%

Answer: ____________

2) (8 x 93) x (5 x 1-8)

Answer: ____________

3) 69% of 442

Answer: ____________

4) (9-4)-19

Answer: ____________

5) (1 x 82) x (1 x 2-6)

Answer: ____________

6) Write 6.1 x 10-3 as a normal number.

Answer: ____________

7) (n-4)-13

Answer: ____________

8) Decrease 52.1 by 97%

Answer: ____________

9) (7 x 44) + (7 x 37)

Answer: ____________

10) Write 7000 in standard form.

Answer: ____________

11) Write 9 x 102 as a normal number.

Answer: ____________

12) (8 x 104) x (3 x 22)

Answer: ____________

13) Decrease 138 by 67%

Answer: ____________

14) 24% of 296

Answer: ____________

15) (5 x 43) + (6 x 41)

Answer: ____________
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16) (2 x 12) - (9 x 77)

Answer: ____________

17) Write 9 x 102 as a normal number.

Answer: ____________

18) (8 x 18) x (6 x 67)

Answer: ____________

19) Find perimeter of 
rectangle having 
sides a = 9885 cm 
and b = 5124 cm

Answer: ____________

20) (6 x 109) - (2 x 5-9)

Answer: ____________

Total: ___ / 20

Copyright 2023 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

January 18, 2023

Sr: 18012023-2971

 

http://www.geekschool.co.uk


Answers:

1) 36.872 2) 29160 3) 304.98 4) 976 5) 1 6) 0.0061 7) n52

8) 1.563 9) 17101 10) 7 x 103 11) 900 12) 960000 13) 45.54 14) 71.04

15) 344 16) -7411885 17) 900 18) 13436928 19) 30018cm 20) 6000000000
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